\

(11{!nter-Play

Installation guide K 1001 ""Kajo 1"

7
| 9
List of parts for installation:
Part Part’s number Quantity
1 Frame of the counter 1
2 The wall 1
3 The wall 1
4 Post H=290cm 1
5 Board Sono 1
6 Post H=150cm 1

INTER-PLAY
tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu



()] !nter-Play

7 Post H=190cm 4
8 Handrail of the driveway 8
9 The driveway 2
10 The anchor of the driveway 4
11 Platform 1
12 Post Edito no 1 H=236cm 4
13 Post Edito no 2 H=236cm 2
14 Frame 1
15 Wall Sono 1
16 Black wall 1
17 Wall Edito 1
18 Wall Edito 1
19 Wall Edito 1

Marking of foundation depth:

225

30

70

INTER-PLAY
tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu



()] !nter-Play

Marking of the safety zone:

- 3
# & . &
2 & 2 S \
% > .
N\
Sl e
— \
- \,
8 N
A
\
7 A
® 0\ oy
L 4 i e T p Do
? p— W= = S e e
S 7
\ Y 2 //
(=) o = o )
2 i g B 2 /
= e . g
636
936

Order of installation:

Marking of installation holes.

Embed the frames and posts into installation holes.
Install walls.

Install driveways.

Filing with concrete.

ko

INTER-PLAY
tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu



Location of installation hole (foundation blocks):

3 140 156
i <2
7
Aay
/.
9
B H i
3 F =
o
8 1
]
)
o o
X A i =
| >
<
%
,é 7
%)
7 ey
140 156
Comment:

““' nter-

The height of block foundations — 30 cm ( for the elements which are anchoring 70 cm into the

ground).

INTER-PLAY

tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu

lay



()] !nter-Play
Assembly:

A-A (1 : 20)

Assembly Infano board s
5x screw pack:

1x 1SO7380 M6x30

1x DIN9021 6x18 %

1x big cork

1x DIN985 M6 G E
1x DIN125 6x12 3
1x plug for the big cork B

D)

Assembly a wall
4x screw pack:
1x 1ISO7380 M6x30

‘| 1x DIN9021 6x18
A

1x big cork
1x DIN985 M6

o 1x DIN125 6x12
1x plug for the big cork 3 E\j

3
L

B-B (1:20)

Assembly one handrail - —_
4x screw pack: (\ \/\ /\ ._r,,)
1x 1SO7380 M8x25 \ / /
1x DIN125 8x16 \

1x DIN985 M8

- \ /|

INTER-PLAY
tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu



()] !nter-Play

creating moving space

Assembly an anchor

2x screw pack: Assembly a driveway
1x DIN7991 M6x80 4x screw pack:
1x DIN9S021 6x18 1x 1ISO7380 M8x60
1x DIN1587 M6 1x DINSO021 8x24
1x DIN1587 M8

INTER-PLAY
tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu



